\
!

\3/” @Hmi%ﬂ—h&\ Vroblesn s (Ww({ PNL&AM /ya/)@ ".

Tl Shteqy
Frequently Mo [1fe | e yiant g0 ot b
i Voduts ape ot Thad wra o atTer
@T‘/\&e {gd CW‘OPﬁ i vahin~ Problams .. . mih .
SW g l Unde r5fzind /»oubm
Q@&Q %Oumgl\ﬂ—j

Z. b\\asmMS .

3. Tudvduce Vw‘/zﬁo»\%\/ﬁ\rn\&(?&f +heT
destribt Hoo guantih 7‘”““"{C
o moxwmize (o minimize)

q. é%,arcff ‘H'Lﬁvmnhjb Yy ou (,\/zpc/-{o
opfimize ,/;\\_'HVMIKF Hoa_otbor
Va((\o\\z(u .
5. Cermbime VArKALs o Mmﬂv; Or2—

0 Fhe ndegondot varnble |
6. Use cledur o Lnd Haodema
odws ond tomd e .




[ex] whee does omd s, Hal i i~ @
Verﬁaid/\Sfﬁncz Lt e~ Hoo ?a,rr»[fwo-ﬁu

Y, =R+
\/L: X—XV /yl
6 &&_jmh«\ v (x)
X
1 -y,

o Mt v = vetiad d)s fance

VoY
V= (XHH) — (x-x*) -2 x4 |
N - {V"O@K"/i

o S{'&\k GnS IR
vV oo a oA LU @ )(r'/q‘mwhere

|
-'ii.



[Ex] - An TEN Y oy wsU contam 32/000@,?@
\/(JMN CTloe bese wut e 3f§b¢£m€ .
Whod—o_t djmdnsion ! ~f—{4afw&\“ wel
HULQMWW‘EHM (Area)

= O =2k TF
O =2b*- 128000
[ =¥ — 64000 WSty

=3[ 64000 =36y 1000 =‘f"0—’ﬂ9g

. - T
‘01/14$~ql/{€57‘7m : o= > = Taw © ZOCm{ L(O)(({OK'Z()CM\‘




*- B\UM@U a(’()ﬁl&»ﬁi}h; @

Defnitions s
. C(X) = (ﬁs‘t_ ﬁ"“‘h‘b"‘ ? 'anmi‘ o?Q'P'rvo&tu.lz/
K Wf&c‘)tfs-
- mﬂaFCW”ﬁL
C(CX) — erﬁmo( ( 5S f/ v*wfi (,«F‘c‘/mnV dJ['COS(;-
i a@wmw@ ‘H:w Lot per unct %—;26' ‘

o ?/X): Price per uwt e Hae Cew,omu7 CW ‘
af4e gd,@d} X - vnify. [pnuﬁmd?b*«’)

or &QW\ﬁ.uﬁ ‘f'uhchb\ﬂ

’ K()() = o=l Wv@‘l“lv;bekpan rece\e S from
Selling X Un(ts. K%)= ~p ()

R'tx) = wargined reyemgt funchda
¢ P) =tk prkit = R(x) -ClX) = ap-C
Py = marg el totad proff

i{}@ = QRVerage i3t per unit = C&) X




@T Shaw +Hhat ?P‘MMW Cs3t Os o mmun, @
Hu S werminad  cy tequals Maverfy tsst -

(Lo
K -~
M N Ihc(?c;ﬁf I S L‘O“Lé H(C—‘fétzdeﬂ\f&fw-c

(ﬂa (',()(\ i

So 4,9@9 =<C"?<f__:><’-C )

Ix .
A %"l“l‘txk\m}k\cmum/ ((,:L—(x) =0 ¢ del’\u (

+30.
. m\:o - c’:_@??

hwt Cr o 4 st ) g’(x):cch
I S o o (¥

C




] rf C(x)=16,000 +200x + fo’/‘ @
@ Pind  Cist , AV Ot and mamnd cnt @ [0
i o bw.iﬁ.b'f}*

32
CL1000) = 16000 +200( 1000) +4 (1000)
= |boto + 200,000 + Y0,000 fio = 392491

_((wod) ’é
* 65 e = 2

/ Ui
- C X)) = 0 +200 Jr‘{-%?(

T

C 1((000) = 200 + @ /o = g’gﬁgcl.‘7‘//um\%

CB) o had— Pﬂd/\/tc"\(;x «QQVf/Q PTG W E 8! 74\(—&(/'{.6.1{'(‘2
FomTe previos ehipls  ¢'(x) 35 0 then
C'(x)=c (%) ~

v 3 N

' KLY chbt
Zoo 4 bx™ = (T * L{X/ Solue K x
200% + 6% = 16000 +wo/x+q alz

2)(3/1_ = [6000 -;—V \K /L:€000 a X,W)

So @ H0( wnit Prodmed e il be
UMDY = WV Cﬁt"P@ruh:T‘ Arodluctinn,.

d o) LU _ (e, ,
ﬁh l‘loo 400 i + 41400 37'0/“




